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Achievement exemplar for 91399 2015 Total score 08 

Q Grade 
score Annotation 

1 A4 

This response is awarded A4 because the candidate: 
(1) correctly shaded (and labelled) DWL on both graphs 
(2) explained why CS increases (with the idea of consuming more and 

paying less) 
(3) explained why PS increases (with the idea of selling more) 
(4) explained there is a loss of allocative efficiency (sum of CS and PS 

not maximised and DWL is created) 
(5) explained subsidy will be more effective with elastic demand due to 

greater increase in QD 
To gain M5 or better requires more in-depth explanations which would 
have included more detail and correct referencing:  
Eg In (3), both the reasons for the PS increasing, ie the price producers 
receive increases AND their QS increases, with correct reference to the 
change in PS shading. 

2 N2 

This response provides partial evidence with some correct calculations 
for the changes in CS and PS. It included references to these changes 
but no evidence of why those changes occurred apart from (6) (eg CS 
under Indirect Tax decreased by $150M because with indirect tax 
consumers pay a higher price, i.e. $18 instead of $15 previously etc.)  
This response provides no other relevant evidence to demonstrate 
understanding of the efficiency of market equilibrium.  

3 N2 

This response provides some partial evidence with a correct 
identification of the tariff revenue label and explanation of loss of 
allocative efficiency (7). There was no other relevant evidence. A better 
answer would have included sufficient detailed explanations that 
referred to correct labels in Table Three and in-depth explanation of 
how equilibrium is restored using market forces and referring to Graph 
Five.  

 

  


